
Ayuda a los robots a resolver las siguientes operaciones combinadas: 

4 x ( 10 – 5 ) + 7 = 

12 : 3 x 6 - ( 7 + 2 ) =

2 x ( 9 – 5 ) + 6 x ( 3 + 7 ) = 

18 : ( 9 – 3 ) + 4 x 2 =



Ayuda a los robots a resolver las siguientes operaciones combinadas: 

6 x 5 : ( 11 – 9 ) + 7 =

( 9 x 3 ) – ( 12 + 4 ) x 2 =

66 : ( 7 + 4 ) x ( 18 – 9 ) = 

9 + 20 : 4 x 3 =



Ayuda a los robots a resolver las siguientes operaciones combinadas: 

81 : 9 + 13 – 7 x ( 3 x 2 ) =

6 x 4 + ( 48 : 6 ) – 10 =

( 12 + 24 ) : ( 23 – 14 ) x 3 =  

8 + ( 42 : 7) x 5 – 4 =



Ayuda a los robots a resolver las siguientes operaciones combinadas: 


	Diapositiva 1
	Diapositiva 2
	Diapositiva 3
	Diapositiva 4

